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vertical expansion orcompression by a factor of"
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g- -I y= -2×2

Éy÷i
y= -2×2

Y= - x2 (0,0) max,o ✗ =o
reflection on the
x-axis

reflection on the
x-axis

y= -2×20,0) Max>
0 ✗ =-0

vert.exp.by a factorof 2

reflection onthe x-axis

y=ax
'

lo,o) Max>0×-0 retstetohbya
factor of /a/

reflection on the x-axis (direction ofopening is nowdown)
reflection x-axis vertical
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Lesson #3
=

hess2

① vet- exp by afactor of 2② hor- trans
. 4units left

③ Vert-trans. 3 units down .
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① reft.cn/hex-axis
① vert-conp.byafac.to, y - 31×+65
oft

,
① vvtexpbyatactorof}
② hor- trans .

bui.tk/-f----y--i-y---ii-y---ti-y=-tz(x-7j
(7) 0 )

let -1=1 t

C-3,-4)max,-4 ✗=-3 ✗=/R YE -4
19,07min,0 ✗=9 ✗=/R y >0


